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FedEERs (HETHA)

(BAL: F. %)

= %
HETAT 2 % _ B - AR Bz
2 % T % Sl TE % (kv F10)
FEM 7,788 7.302 486 6.7 1
ST 141 152 Al A 72
T 4, 659 4,077 582 14,3 7
fiET 4,488 5395 | A 907 A 16.8 3
gL 304 235 69 294
AEET 1114 950 164 17.3
NEL 3. 044 3,042 2 0. 1 5
T ET 733 1014 | A 281 A 27.7
EET 359 261 A 102 A 221
RE 1199 1107 92 8.3 9
AT 571 635 A 64 A 101
mam 229 312 A3 A 266
7B 225 292 A6] A 209
EEHT 1126 1,203 A 77 N 10
i 3.726 4,019 A 203 A 73 1
BT 39 40 Al A 25
TR 2,023 1,597 426 26.7 6
sl 1.806 3131 | A 1325 A 42.3 7
INFHT 1579 1,655 A6 A4S 8
KEFH 527 567 A0 ATl
BE I 195 08 07 99.0
S ah 606 837 | A 231 A 27.6
EEm 313 228 A 1156 A 26.9
=2h 180 209 | A 119 A 39.8
BET 1107 1,766 A 650 A 37.3
BT 697 766 A 69 A 90
W AT 619 823 A 200 A 248
I\ 261 232 29 12.5
ENEETh 902 1,239 A 337 A 27.2
T 410 159 251 157.9
=Em 295 256 39 5.2
BEAT 149 135 1 10.4
BT 114 116 A2 A7
FET 212 285 A3 A 256
LR 157 168 Al A 65
WNT A 110 131 A2 A160
KRB ET 266 277 Al A 40




(B 7. %)

5 e
AR &% - B - AR .
2 & | % =g n=xy
S A& FEET 180 133 47 35.3
i) 54 79 A 25 A 31.6
FE 28 16 12 75.0
Z AT 27 42 A 15 A 357
R E AT 38 52 A 14 A 26.9
A+ABH 31 36 A > A 13.9
= BT 38 27 11 40.7
2 SLET 67 88 A 21 A 23.9
— = AT 134 75 59 18.7
B SR AT 16 19 A 3 A 158
E 49 51 A2 A3
=) 23 31 A 8 A 258
ERET 17 9 g 889
£ EET 13 3 0 0.0
KZEMR 18 21 A 3 A 14.3
ppe— 16 36 A 20 A556
$EE AT 48 17 31 182. 4
Ok 42, 273 45, 201 A 2 928 A 6.5
ARERET 197 745 52 7.0
& & 43,070 45 946 A 2 876 A 6.3




